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Series-Coefficient & finding constant

0 1 The coefficient of x° in the expansion of (a + x)° + (1 — 2x)%, where a is positive, is 90. Find the value

of a. , T—-12.~ / [5]

0 2 The coefficient of x% in the expansion of (1 — 3x)® + (1 + ax)’ is 100. Find the value of the constant a.
N—l¢—)g~2— [4]
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Series-Coefficient & finding constant

'O 3 The coefficient of x° in the expansion of (a + x)° + (2 — x)% is 90. Find the value of the positive
constant a. I-)2-12-13 (5]

04

(i) Write down the first 4 terms, in ascending powers of x, of the expansion of (a — x)°. [2]

(ii) The coefficient of x> in the expansion of (1 — ax)(a — x)° is =200. Find the possible values of the

constant a. T—)5— 8 - 9 (4]
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Series-Coefficient & finding constant
NI 3=~/

0 5 (i) Find the first three terms when (2 + 3x)® is expanded in ascending powers of x. 3]
(ii) In the expansion of (1 + Ax)(2 + 3x)8, the coefficient of x* is zero. Find the value of A. [2]
06 (i) In the expression (1 -px)®, p is a non-zero constant. Find the first three terms when (1 -px)%is
expanded in ascending powers of x. 2]

(ii) Itis given that the coefficient of x? in the expansion of (1 - x)(1 - px)® is zero. Find the value

P Tt 3~11-2 (3]
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Series-Coefficient & finding constant

0:7 () Find the first 3 terms in the expansion of (2 - x)% in ascending powers of x. A/~ G ;{,3 [3]

|
(i) Given that the coefficient of x? in the expansion of (1 + 2x + ax?)(2 - x)® is 48, find the value of
the constant a. [3]

08 (1) Find the first three terms in the expansion of (2 + ax)’ in ascending powers of x. [3]

(1) Given that the coefficient of x> in the expansion of (1 + 2x)(2 + ax)’ is 240, find the possible
values of a. T-13—[3- Y (3]
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Series-Coefficient & finding constant

2x 5 iS @ - t, show that the coefficient of x2
i f 1——) a +x)’, where a is a non-zero constant, show tha ec
09 In the expansion o ( a ( N-] S— I )
1S zero.

1 0 (i) Find the first 3 terms in the expansion of 2+ 3x)5 in ascending powers of x. [3]
(ii) Hence find the value of the constant a for which there is no term in x? in the expansion of
(1+ax)(2 +3x)%.

[2]
-9-\3)
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Series-Coefficient & finding constant

11 (1) Find the first 3 terms in the expansion of (1 + ax)® in ascending powers of x. - Jo-1 2~ 4 [2]

(ii) Given that there is no term in x in the expansion of (1 — 2x)(1 + ax)’, find the value of the
constant a. 2]

(iii) For this value of a, find the coefficient of x2 in the expansion of (1 —2x)(1 + ax)°. [3]
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Series-Coefficient & finding constant

1 4 The first three terms in the expansion of (1 —2x)(1 + ax)®, in ascending powers of x, are 1 — x + bx.
2 Find the values of the constants a and b. T-12~/ 73 [6]
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Series-Coefficient & finding constant

'} 3 The coefficient of x* in the expansion of (k + %x)5 is 30. Find the value of the constant k. [3]
N=11~73 -/

1 4 - In the expansion of (x + 2k)’, where k is a non-zero constant, the coefficients of x* and x° are equal.

Find the value of k. N~ If//z -2 [4]
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Series-Coefficient & finding constant

-{ 5 () Find the terms in x* and x° in the expansion of (1- %x)ﬁ. J-i 2~ [3]

(ii) Given that there is no term in x> in the expansion of (k + 2x)(1 - %x)ﬁ, find the value of the

constant k. [2]
1 5 (i) ;‘(1)1‘1;1(; rlsn ct)(;r;ns of the non-zero constant k, the first 4 terms in the expansion of (k + x)8 in ascending
. 3]
N-9—)2 -y [
(ii) Given that the coefficients of x> and x° in this expansion are equal, find the value of k. [2]
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Series-Coefficient & finding constant

1 7 (i) Find the first 3 terms in the expansion of (2 — X)6 in ascending powers of x. 47-5"!/ [3]

(ii) Find the value of k for which there is no term in x* in the expansion of (1 + kx)(2 — x)°. [2]

1 8 (i) Find the first 3 terms, in ascending powers of x, in the expansion of (1 + x)°. [2]
The coefficient of x* in the expansion of (1 + (px +xz))5 is 95. N -1/ L{"/Z:_g

(ii) Use the answer to part (i) to find the value of the positive constant p. [3]
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Series-Coefficient & finding constant

149 In the expansion of (3 -2x) (1 + %)n

, the coefficient of x is 7. Find the value of the constant n and
hence find the coefficient of x2.

N1 )2-Y (6]

20 The first three terms in the expansion of (2 + ax)”, in ascending powers of x, are 32 — 40.x+ bxX*. Find
the values of the constants n, aand b. F6—y [5]
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